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do nel exist, (109) |

2. Find the critiad potats and classify all the tatreme values of

foo = x*-20x[+2, xel-3, 4] (109, )

3. E\/alua,,t. Lf C313l‘3)c41 0‘3— , L the region between F=1x] and I=~z/,

JCé[‘L ‘J. (Lg%)

4. A mo{:orcgchs": de?ng_ a(ana, the voad ¥=x* aX pornt (a, b) when
she sees a der sfqml?ng. at point I, -4) illuminated by hey
heac(lt‘gltt, Find (a, b). (o)

S Lot R olenste the region. boundloed below bat the X~axts and above Ivg

+he ﬂr“f’h o—f g = -I"\"H . F.‘,\o( tlhy volume gznernﬁo( és‘ Vafaf.'nf_ R
avound -tlhg X=axis, (w0%)

6. Evalunte o) Aim e-x‘f': et dt ) B SHEE-SmE o)

X0 d>o. Lo

7. Evaluats m)f%’%‘%dz b) /fa,ﬁx wlx dx  (10%)

8. A manufacturer hao 360,000 G spen}( )no,,-et.ly for (abor, Satevest , amel
raw materials. Tf X, 4, and } are the amount Cin clollars ) spent monthly
on thee resources, respectively , thew -the Mvnfttla, profit (i'n thousands
of olollars) s glven "c‘l‘ PX,4,5)=x¢+d3+xy.

How much showld be alloc tsol mow&h(j for eacl resource G naxim 22
te profit? (15%)

-—-—‘—4 \
1. Etpano( Fx) = a+zx wto o pewer series in powers 0§ X . Find tle

tntervad ag wnucr'fenq Oé te serieo. (e’)






